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Note:- This paper contains two parts- Pa
Attempt all the questions. All que

v equal marks.

Total time :3 Hrs
Total Marks : 125

s will be deducted for each wrong

This paper carries negative mnrld 0, 2
answer.
Part- A (workshop lculation & Science) (Marks: 75)
Choosa the correct answer:
1 > Marks : 3
Simplify: 38xy-15xy AT g 3Bxy-15xy
A 32xy "'v
C -28xy 23 xy
D -32xy 32 Xy -
2 ; 2 Marks : 3
Multipty: (3d*-2d) 3d T Wi (3d?-2d) 3d
d* - 6d? - a¢ -Bd*
gd” + 6d” 3 o4+ 6d°
-8d* - 6d* s 8d’— 6
9d* -6d* - 0d? - gd?
3 : Marks : 3
. 8x' ™ _8x"
Divide: .Er ' m mq' axs
A o 1a x*
g x? E
G 1c
D x*
4 Marks : 3
(@0)=(8-D)K. v = (&-h)‘=(a-b)x.
A =ab ab
& (avb) ce»o)
C 2ab 2ab
D (ab) | D (ab)
5 Marks:3 | 5 Marks : 3
Solve: 2x+5=23x : 'm FAFAU: 2x45=23-x .
A -18 |la -8 -
C +18 " 0'18
v F -
Y+4E3=(8) - Question Paper (1)
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3 Marks:3 | 6 3
Calculate the perimeter of the triangle whose sgummﬁ
i 20 18 891 7w 10 F1

ygg

sides are 20 cm. 18 cm and 10 cm.
A 24cm =
B 4d8cm
C S2cm
D B4cm . 84 ¢
7 Marks : 3 Marks : 3
Find the area of rectangular piot whose sides
are 24 m and 20 m?
Q]480m'
520 m*
840 m*
720 m*

®loow

meemdmammw % 2080 s T edM SR aW
base 20 cm and height 8 cm? e By @ e s :
90 cm’ ) e’ :
80 cm” 80 ¢n
70 em”
60 cm’

@ UOQ)

Marks 13 , Warks : 3
Find tha perimeter of a semi-circle whose T id-gu = oiEm a A R

radius is 14 cm ("“"*'«,q)

A 22cm
B 44cm
Cc

70 Marks:3 |10 Marks 1 3
Find the total surface area of a cylinder of OF 14 ., e 9w 20 @ S9R @)
14 cm diameter and 20 em height ? =t = 37 7o S T AR

(Tdux--zg‘
\ 7)

A 1582cm’
B 1354cm’
c| 1188cay’
D 1072cm’
1 Marks : 3 !
0P8 =i
A OF
B> 32°F
c\ 104°F
D 148°F ;
12 Marks : 3 | 12
Specific heat of CoOPPAr IS ...cumwminsscn
Al 25
B 20
c 10
D 0.1t

Marks: 3
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Marks : 3
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20 Marks:3 | 20 Marks : 3
By which effect of electric current both e
generator and motor are woirking?
A Physical
B Chemical
g/ Magnetic
D Heating i
21 Marks:3 | 2

22 Marks : 3
Which is the conducting material?
_/ Aluminium
Porcelain
Rubber
Fibre

Nloow

Marks : 3 ; Marks =3
Efficiency of a liting machina Is 60%.The it el @1 e 60 wiowa 813 . @

effort moves through 3 meters, when the 12 7. Raamar &1 23Fea
load moves 12 cm. What is its mechanical i e - :

advantage?

Al 15

B 14 -

c 13

D 12

24 Marks : y Marks : 3
Which one of the following is an example of W ST ST @ B 3 8 ae s
first order lever? | N

A Lemon squeezer A e

B/ Cutting plier B 3K

C Firetongs

D Nut craker

25 Marks : 3 Marks : 3
In a screw jack, the pitch is 0.25 cm and the % #, 0.25 . % Ra ¥ aur w@m @
e S vegnol” [N d o 10 34 80 7w

L

angle la the lever, Find the mechanical 9‘ i & a9 & T & 8
advantage and velocity ratio of tha - SOF T & o % & A LERIGRGE ]
jack (Take 7 = 3.14) - @ w7 s #R) (n= 3,14 iR

A 11765 376.8 A ‘1785 376.8

B 11665 3778 ‘B 11665, 377.8

C 115865, 378.8 C 11565, 378.8

D 11465, 3798 D 11485, 379.8
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